Makehick

Construct Your Dreams

Music Robot Kit V2.0

Assembly Instructions




2XSlider 496

2 XBeam 0824-96

8 X Socket Cap Screw M4X14 N









1 XPlate 7X9

4XV-slot Bearing

4 X Socket Cap Screw M4X14 @

8XNut M4 @















1 XDC Frame Type Solenoid HCNE1-0530

1 XPlate 11

1 XBracket 3X6

o

1 XBeam 0808-88

1 XShaft Collar 4mm

1 XThreaded Shaft 4X39mm
1 XStick

4XNylon cable ties 2X100
2XSocket Cap Screw M4XS8

/e

3XNut M4

Ve 9

2 X Countersunk Screw M3 X8

1 XHeadless Set Screw M3 X5

2XPlastic Ring X2mm ®












2XSocket Cap Screw M4XS8 R

2XNut M4












1 X42BYG Stepper Motor

1 X42BYG Stepper Motor Bracket

1 XMicro Switch

4 X Countersunk Screw M3 X8

2XSocket Cap Screw M4X14

2XNut M4
@



((((((((((mc
d —



3XSocket Cap Screw M4AX14
3XNut M4

e









1 XTiming Pulley 62T

1 XTiming Pulley Slice 62T

1 X Shaft Connector—4mm

2XPlastic Rivet R4120

2XSocket Cap Screw M4X14

A







1 XTiming Pulley 62T

1XTiming Pulley Slice 62T

1 XBeam 0824-48

1 XThreaded Shaft 4x39mm

2XFlange Bearing 4X8X3mm
2XPlastic Rivet R4120

1 XShaft Collar 4mm

1 XHeadless Set Screw M3 X5
2XPlastic Ring 4X7X2mm

1 XNut M4







1 XHeadless Set Screw M3X5H
2XSocket Cap Screw M4x14












1 XOpen—end Timing Belt (1.3m)

1 X Belt Connector
4 X Socket Cap Screw M4XS8

4 X Nut M4









1 X Plate 3X6

4 X Beam 0808-184

1 X Socket Cap Screw M4X14

2XSocket Cap Screw M4X8

2XNut M4

2XPlastic Rivet R4060

1 XRJ25 Adapter













1 XMe-Ultrasonic Sensor

1 XMe Stepper motordriver V1.0

4XPlastic Rivet R4060 oy






1 XMe—-Baseboard

1 XBase Bracket

2XNut M4
2X Socket Cap Screw M4X14

4 XPlastic Rivet R4100










1 X Streamer

1 X Xylophone

1 XLED RGB
Strip—Addressable, =
Sealed (0. 5M) =

3X6P6C RJ25 cable—20cm /\

1 XWall Adapter Power

Supply — 12VDC

1 XUSB 2.0 A-Male to J
Micro B-Male Cable S‘b'






Note: Please connect as the above diagram




)

Note: Please connect as the above diagram



Note: Please connect as the above diagram




Note: Please connect as the above diagram












Makebick

Construct Your Dreams

www.makeblock.cc



	Music Robot Kit V2.0 front cover
	音乐套件 零件清单_视图 2
	音乐套件 零件清单_视图 3
	音乐套件 零件清单_视图 4
	音乐套件 零件清单_视图 5
	音乐套件 零件清单_视图 6
	音乐套件 零件清单_视图 7
	音乐套件 零件清单_视图 8
	音乐套件 零件清单_视图 9
	音乐套件 零件清单_视图 10
	音乐套件 零件清单_视图 11
	音乐套件 零件清单_视图 12
	音乐套件 零件清单_视图 13
	音乐套件 零件清单_视图 14
	音乐套件 零件清单_视图 15
	音乐套件 零件清单_视图 16
	音乐套件 零件清单_视图 17
	音乐套件 零件清单_视图 18
	音乐套件 零件清单_视图 19
	音乐套件 零件清单_视图 20
	音乐套件 零件清单_视图 21
	音乐套件 零件清单_视图 22
	音乐套件 零件清单_视图 23
	音乐套件 零件清单_视图 24
	音乐套件 零件清单_视图 25
	音乐套件 零件清单_视图 26
	音乐套件 零件清单_视图 27
	音乐套件 零件清单_视图 28
	音乐套件 零件清单_视图 29
	音乐套件 零件清单_视图 30
	音乐套件 零件清单_视图 31
	音乐套件 零件清单_视图 32
	音乐套件 零件清单_视图 33
	音乐套件 零件清单_视图 34
	音乐套件 零件清单_视图 35
	音乐套件 零件清单_视图 36
	音乐套件 零件清单_视图 37
	音乐套件 零件清单_视图 38
	音乐套件 零件清单_视图 39
	音乐套件 零件清单_视图 40
	音乐套件 零件清单_视图 41
	音乐套件 零件清单_视图 42
	音乐套件 零件清单_视图 43
	音乐套件 零件清单_视图 44
	音乐套件 零件清单_视图 45
	音乐套件 零件清单_视图 46
	音乐套件 零件清单_视图 47
	音乐套件 零件清单_视图 48
	音乐套件 零件清单_视图 49
	音乐套件 零件清单_视图 50
	音乐套件 零件清单_视图 51
	Music Robot Kit V2.0 back cover

